)

3

4)

®)

(6)

N

8

@

76 =

25 -

20 -

65 =

o4 =

49 -

69 -

85 -

39 =

34 =

69 -

bh =

83 -

Q9 -

86 -

45 -

(20

@n

(22)

(23)

24)

(25)

(26)

@7

(28)

29

(30)

3N

(32)

65 =

57 =

50 -

34 -

67 =

50 -

98 -

98 -




@

)

4

®)

©)

N

®

@

76 =

25 -

90 -

65 =

54 =

49 -

69 -

85 -

39 =

34 =

69 -

hhH -

83 -

90 -

86 -

45 =

2HT -1 HIR DAY (BEXK)

T4 = 12
+ 7 = 3
T2 = 45
2 =3
8= 6
T4 = 12
6 = 1
=7 =12
8= 4
4 =5
+ 5 =13
T4 = 13
+ 5 = 16
=7 = 14
=7 =12
+ 3 =15

20

@n

(22)

(23)

24)

(25)

(26)

@n

(28)

29

€]

3D

(32)

Q5 =

o1

88 -

65 -

87 =

50 -

34 -

67 -

50 -

98 -

98 -



